A simple proof of Stirling's formula for the gamma function

G. J. O. JAMESON

Stirling's formula for integers states that

$$n! \sim C n^{n+\frac{1}{2}} e^{-n} \text{ as } n \to \infty, \tag{1}$$

where $C = \sqrt{2\pi}$ and the notation $f(n) \sim g(n)$ means that $f(n)/g(n) \to 1$ as $n \to \infty$.

A great deal has been written about Stirling's formula. At this point I will just mention David Fowler's *Gazette* article [1], which contains an interesting historical survey.

The continuous extension of factorials is, of course, the gamma function. The established notation, for better or worse, is such that $\Gamma(n)$ equals (n-1)! rather than n!. Stirling's formula duly extends to the gamma function, in the form

$$\Gamma(x) \sim Cx^{x-\frac{1}{2}}e^{-x} \text{ as } x \to \infty.$$
 (2)

To recapture (1), just state (2) with x = n and multiply by n.

One might expect the proof of (2) to require a lot more work than the proof of (1). However, this is not true! Here, with only a little more effort than what is needed for the integer case, we will prove the following more specific version of (2), incorporating upper and lower bounds.

Theorem 1: Let
$$S(x) = x^{x-\frac{1}{2}}e^{-x}$$
 and $C = \sqrt{2\pi}$. Then for all $x > 0$,
$$CS(x) \le \Gamma(x) \le CS(x)e^{1/(12x)}.$$
 (3)

Proofs can be seen in numerous books, e.g. [2], [3], so a compelling excuse is needed for presenting yet another one. Readers can judge whether the measure of simplification achieved by the method given here is sufficiently compelling.

We will not need to assume any knowledge of the gamma function beyond Euler's limit form of its definition and the fundamental identity $\Gamma(x + 1) = x\Gamma(x)$.

In common with most proofs of Stirling's formula, we concentrate on showing that (3) holds for *some* constant C. Having done so, one can then use the Wallis product to establish that $C = \sqrt{2\pi}$. See, for example, [1] or [3, p. 20]. I am not offering any novelty for this part of the argument.

Also in common with most proofs, we really work with $\ln \Gamma(x)$. Clearly (3) is equivalent to:

$$\ln\Gamma(x) = \left(x - \frac{1}{2}\right)\ln x - x + c + q(x),\tag{4}$$

where $c = \frac{1}{2} \ln (2\pi)$ and $0 \le q(x) \le \frac{1}{12}x$.

The distinctive feature of our method is to estimate $\ln \Gamma(x)$ by

estimating its derivative. We explain later why this leads to a gain in simplicity. Now $\frac{d}{dx} \ln \Gamma(x) = \Gamma'(x)/\Gamma(x)$. Following the usual custom in literature on the gamma function, we denote this function by $\psi(x)$. Many of the statements and formulae relating to the gamma function have a simpler counterpart for $\psi(x)$, and Stirling's formula is no exception. The corresponding statement is:

Theorem 2:

$$\ln x - \frac{1}{2x} - \frac{1}{12x^2} \le \psi(x) \le \ln x - \frac{1}{2x}.$$
 (5)

Once we know this, Theorem 1 follows in a simple and elegant way, as we proceed to show.

Deduction of Theorem 1 from Theorem 2: Let

$$g(x) = \ln \Gamma(x) - \left(x - \frac{1}{2}\right) \ln x + x.$$

We have to show that $c \le g(x) \le c + \frac{1}{12x}$ for some constant c. Now

$$g'(x) = \psi(x) - \ln x + \frac{1}{2x},$$

so by Theorem 2, $-\frac{1}{12x^2} \le g'(x) \le 0$. Hence $\int_1^\infty g'(t) dt$ is convergent (say to *I*). So

$$g(x) - g(1) = \int_{1}^{x} g'(t) dt = I - \int_{x}^{\infty} g'(t) dt,$$

or $g(x) = c - \int_{x}^{\infty} g'(t) dt$, where c = I + g(1). The required statement follows, since

$$0 \le -\int_{x}^{\infty} g'(t) dt \le \int_{x}^{\infty} \frac{1}{12t^{2}} dt = \frac{1}{12x}.$$

Now we have to prove (5). We start from Euler's limit definition of the gamma function: $\Gamma(x) = \lim_{n \to \infty} G_n(x)$, where

$$G_n(x) = \frac{n^x (n-1)!}{x(x+1)...(x+n-1)}.$$
 (6)

(An alternative version, clearly equivalent in the limit, has a further n at the top and (x + n) at the bottom.) Note that $G_n(1) = 1$ for all n, so the definition immediately gives $\Gamma(1) = 1$.

Of course, it needs to be shown that $\lim_{n\to\infty} G_n(x)$ exists for general x. This can be seen in any account of the gamma function; a simple method was presented in [4]. The identity $\Gamma(x+1)=x\Gamma(x)$, and hence $\Gamma(n)=(n-1)!$, follows at once from

$$G_n(x + 1) = \frac{n}{n+x} x G_n(x).$$

Standard accounts also include the equivalence of (6) with Euler's other definition of the gamma function, the integral $\int_0^\infty t^{x-1}e^{-t}dt$, but this is not needed for our purposes.

Now

$$\ln G_n(x) = x \ln n + \ln \left[(n-1)! \right] - \sum_{r=0}^{n-1} \ln (x+r), \tag{7}$$

so $\psi(x) = \lim_{n \to \infty} \psi_n(x)$, where

$$\psi_n(x) = \frac{d}{dx} \ln G_n(x) = \ln n - \sum_{r=0}^{n-1} \frac{1}{r+x}.$$
 (8)

(Here, of course, we are taking it for granted that the derivative of the limit is the limit of the derivatives; for purists, this is justified by uniform convergence of $\psi_n(x)$ on bounded intervals, which they may care to prove as an exercise.)

To put (5) into perspective, we digress briefly to mention some more elementary facts about $\psi(x)$, though they are not strictly needed for Theorem 2.

Proposition 1: The function $\psi(x)$ is increasing. Further:

$$\psi(x + 1) = \psi(x) + \frac{1}{x},$$
 (9)

$$\ln x - \frac{1}{x} \le \psi(x) \le \ln x. \tag{10}$$

Proof: From (8), it is clear that $\psi_n(x)$ increases with x, hence so does $\psi(x)$. Since $\Gamma(x+1) = x\Gamma(x)$, we have $\ln \Gamma(x+1) = \ln \Gamma(x) + \ln x$. Differentiation gives (9). Also, by the mean-value theorem, it follows that $\ln x = \psi(\xi)$ for some ξ in (x, x+1). Since $\psi(x)$ is increasing, this shows that $\psi(x) \le \ln x \le \psi(x+1)$. With (9), this gives (10).

Note: As the reader may know, a function with increasing derivative is *convex* (informally, this means curving upwards). So $\ln \Gamma(x)$ is convex. The celebrated Bohr-Mollerup theorem states that the gamma function is the unique function f(x) with the property that $\ln f(x)$ is convex, f(x + 1) = xf(x) and f(1) = 1. For a proof, see [4].

Clearly (5) is a greatly enhanced version of (10). We now embark on its proof. Define

$$S_n(x) = \sum_{r=0}^{n-1} \frac{1}{r+x},$$

so that $\psi_n(x) = \ln n - S_n(x)$. Also, define

$$S_n^*(x) = \frac{1}{2x} + \sum_{r=1}^{n-1} \frac{1}{r+x} + \frac{1}{2(n+x)} = S_n(x) - \frac{1}{2x} + \frac{1}{2(n+x)}$$

Clearly $\psi(x) = \lim_{n \to \infty} \psi_n^*(x)$, where

$$\psi_n^*(x) = \ln n - S_n^*(x) - \frac{1}{2x}.$$
 (11)

Note that $S_n^*(x) = \sum_{r=0}^{n-1} T(r + x)$, where T(x) is defined by

$$T(x) = \frac{1}{2x} + \frac{1}{2(x+1)}$$

Now T(x) is the trapezium-rule approximation to $\int_{x}^{x+1} t^{-1} dt = \ln(x+1) - \ln x$. The key step is the following result, giving bounds for the error in this approximation. Here we present an elementary method based on the power series for $(1 + y)^{-1}$, $(1 + y)^{-2}$ and $\ln(1 + y)$, which can be traced to [2, p. 21].

Proposition 2: For all x > 0, we have

$$T(x) = \ln(x + 1) - \ln x + \Delta(x),$$
 (12)

where

$$0 \le \Delta(x) \le \frac{1}{12x^2} - \frac{1}{12(x+1)^2}.$$
 (13)

Proof: We have $\ln(x + 1) - \ln x = \ln(1 + 1/x)$, and

$$1 + \frac{1}{x} = \frac{1+y}{1-y},$$

where y = 1/(2x + 1). Note that 0 < y < 1. By the power series for $\ln(1 \pm y)$,

$$\ln\left(1 + \frac{1}{x}\right) = \ln\left(1 + y\right) - \ln\left(1 - y\right) = 2\left(y + \frac{y^3}{3} + \frac{y^5}{5} + \dots\right).$$

Also,

$$\frac{1}{2x} = \frac{y}{1-y}, \qquad \frac{1}{2(x+1)} = \frac{y}{1+y},$$

so by the geometric series for $1/(1 \pm y)$

$$T(x) = 2(y + y^3 + y^5 + \dots).$$

Hence $\ln (1 + 1/x) < T(x)$ and

$$\Delta(x) = T(x) - \ln\left(1 + \frac{1}{x}\right) \le \frac{4}{3}y^3 + 2(y^5 + y^7 + \dots).$$

Meanwhile,
$$(1 + y)^{-2} = \sum_{n=0}^{\infty} (n + 1) y^n$$
, so

$$\frac{1}{4x^2} - \frac{1}{4(x + 1)^2} = \frac{y^2}{(1 - y)^2} - \frac{y^2}{(1 + y)^2}$$

$$= 2y^2 (2y + 4y^3 + 6y^5 + \dots) = \sum_{n=1}^{\infty} 4ny^{2n+1}.$$

Denote this by U(x). Term-by-term comparison shows that $\Delta(x) \le \frac{1}{3}U(x)$.

Note: A more sophisticated alternative proof of Proposition 2 is by Euler-Maclaurin summation, which has the advantage of being applicable to other functions. A simplified version is described in a companion article [5].

Proof of Theorem 2: By (12),

$$S_n^*(x) = \sum_{r=0}^{n-1} T(r+x) = \ln(n+x) - \ln x + p_n(x),$$

where $p_n(x) = \sum_{r=0}^{n-1} \Delta(r + x)$. So by (11),

$$\psi_n^*(x) = \ln n - \ln (n+x) + \ln x - \frac{1}{2x} - p_n(x).$$

By (13), $p_n(x)$ tends to p(x) (say) as $n \to \infty$, where

$$p(x) = \sum_{r=0}^{\infty} \Delta(r+x) \le \frac{1}{12} \sum_{r=0}^{\infty} \left(\frac{1}{(x+r)^2} - \frac{1}{(x+r+1)^2} \right) = \frac{1}{12x^2}.$$

also $p(x) \ge 0$. Now $\ln(n+x) - \ln n = \ln(1+x/n) \to 0$ as $n \to \infty$, so by taking the limit as $n \to \infty$, we obtain

$$\psi(x) = \ln x - \frac{1}{2x} - p(x),$$

where $0 \le p(x) \le 1/(12x^2)$. This is equivalent to to (5).

A further degree of accuracy. In Proposition 2, with a bit more effort, one can show by either of the methods mentioned that

$$\Delta(x) \geq \frac{1}{12} \left(\frac{1}{x^2} - \frac{1}{(x+1)^2} \right) - \frac{1}{120} \left(\frac{1}{x^4} - \frac{1}{(x+1)^4} \right).$$

The details can be seen in [5]. Fed into the proof of Theorem 2, this gives

$$\psi(x) \le \ln x - \frac{1}{2x} - \frac{1}{12x^2} + \frac{1}{120x^4}$$

Fed in turn into the proof of Theorem 1, this results in

$$\ln \Gamma(x) = \left(x - \frac{1}{2}\right) \ln x - x + c + \frac{1}{12x} - r(x),$$

where

$$0 \le r(x) \le \frac{1}{360x^3}.$$

The further continuation can be seen in [3, p. 22]. For $\Gamma(x)$ itself, this line of reasoning leads to an asymptotic expansion

$$\Gamma(x) = CS(x) \left(1 + \frac{1}{12x} + \frac{1}{288x^2} + \dots \right).$$

Some concluding remarks

(1) Comparison with direct estimation of $\ln \Gamma(x)$.

Wouldn't it be more direct to estimate $\ln \Gamma(x)$ directly, using (7)? One needs the following analogue of Proposition 2, which can be proved in a similar way, or again by Euler-Maclaurin summation:

$$\frac{1}{2}\ln x + \frac{1}{2}\ln(x+1) = (x+1)\ln(x+1) - x\ln x - 1 - \Delta_1(x),\tag{14}$$

where $0 < \Delta_1(x) \le 1/[12x(x+1)]$. If we only want Stirling's formula for *integers*, we have simply $\ln [(n-1)!] = \sum_{r=0}^{n-1} \ln r$ instead of (7), and this method is indeed highly efficient. It can be seen, for example, in [6, p. 52-53], or in a more accurate form in [5]. But, for the gamma function, (7) contains both $\ln [(n-1)!]$ and $\sum_{r=0}^{n-1} \ln (x+r)$. One has to apply (14) to each of these and combine the results. In a sense, this doubles the work. The estimation of $\psi(x)$ was simpler because of the disappearance of the term $\ln [(n-1)!]$ under differentiation.

(2) The integral definition

Can one prove Stirling's formula starting from the integral definition of the gamma function? Patin [7] gives such a proof. It is indeed short, and even incorporates the evaluation of C, but it does not establish bounds as in (3), and it uses Lebesgue's dominated convergence theorem, so cannot be regarded as completely elementary. Another proof, more elementary but (in my view) less transparent, is given in [8].

(3) The complex case

Euler's limit definition (6) applies equally for a complex variable z. The following suitably rephrased version of (4) applies (see for example [9]). Let $z = re^{i\theta}$, where $|\theta| \le \pi - \delta$ for some $\delta > 0$. Then there is a logarithm L(z) of $\Gamma(z)$ satisfying

$$L(z) = (z - \frac{1}{2}) \ln z - z + c + q(z),$$

where $|q(z)| \le A/r$ for some constant A (depending on δ).

References

- 1. David Fowler, The factorial function: Stirling's formula, *Math. Gaz.* **84** (March 2000), pp. 42-50.
- 2. Emil Artin, *Einführung in die Theorie der Gammafunktion*, Teubner, Leipzig (1931); English translation: *The gamma function*, Holt, Rinehart and Winston (1964).
- 3. George E. Andrews, Richard Askey and Ranjam Roy, *Special functions*, Cambridge University Press (1999).
- 4. G. J. O. Jameson, A fresh look at Euler's limit formula for the gamma function, *Math. Gaz.* **98** (July 2014) pp. 235-242.
- 5. G. J. O. Jameson, Euler-Maclaurin, harmonic sums and Stirling's formula, *Math. Gaz.* **99** (March 2015) pp. 75-89.
- 6. William Feller, An introduction to probability theory and its applications, John Wiley (1950).
- 7. J. M. Patin, A very short proof of Stirling's formula, *Amer. Math. Monthly* **96** (1989) pp. 41-42.
- 8. Reinhard Michel, The (n + 1) th proof of Stirling's formula, *Amer. Math. Monthly* **115** (2008) pp. 844-845.
- 9. E. T. Copson, *Introduction to the theory of functions of a complex variable*, Oxford University Press (1935).

doi: 10.1017/mag.2014.9

G. J. O. JAMESON

Dept. of Mathematics and Statistics, Lancaster University, Lancaster LA1 4YF e-mail: g.jameson@lancaster.ac.uk

In the pipeline for July 2015

David K Neal and Dustin Gentile	Crapoulette: card craps with one deck
Alan F Beardon and Paul Stephenson	The Heron parameters of a triangle
Des MacHale and Joseph Manning	Maximal runs of strictly composite integers
Thomas Osler	Short and fuzzy derivations of five remarkable formulas for primes
Michael Sewell	Parametric envelopes
Glyn George	When copycats lose
Martin Josefsson	Minimal area of a bicentric quadrilateral
Trygve Breitveig	Quotients of triangular numbers
Victor Oxman and Moshe Stupel	Elegant special cases of van Aubel's theorem
Imre Patyi	On some elementary functions